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NOTES: Section 8.6

Identify Conic Sections If you are given an equation of the form
Ax2+ Bxy + Cy2 + Dx + Ey + F =

(x+ 9~>a

0, with B = 0,
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= a(Xx— %

you can determine the type of conic section just by considering the values of A and C. Refer

to the following chart.

Relationship of Aand C

Type of Conic Section

A = 0or C = 0, but not both. parabola
A=C circle
A and C have the same sign, but A # C. | ellipse

A and C have opposite signs.

hyperbola
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Exdmp le Without writing the equation in standard form, state whether the
graph of each equation is a parabola, circle, ellipse, or hyperbola.

a.3x2—3y2+5x+12=10 ‘ b.y2 =Ty — 2x + 13
A=> ~43~n~x-\3
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Lorena will write the homework now...
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